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16a (7 nawn) 2 17a (7797 D17D)

I ’n mwn: dispute nnon/n™ regarding nn »xna o0

a

d

If: he had %wa-intent at ymp but not n1a% (or vice-versa)
i 77 the nminis Ynan
ii o237 no Ya until he has that intent with the full vnn (pmip+nnay)
1 Therefore: they agree with n™ in case of RN nnn (no Nnav) that ymp alone suffices
If: he had Ywa-intent regarding eating nnn 'nw at nv'NWY of one of the lambs
Or if: he had %wa-intent regarding eating n”9n nnY at burning one of the nna% »’ma
i »n”% the bread is Ynan
ii ~ p2p3m no Y19 until he has that intent with the full vnn (slaughtering both lambs, burning both 312)
If: he slaughtered one of the lambs with intent to eat it 2115 yin, only it is Ynan
i And if he slaughtered it with 9 wa-intent for the other lamb, both are w3

I Dispute YR1nw/21 about the parameters of the dispute

a

b

I Question posed re: role of Na%n - is it like n¥np (doesn’t apply to nna% > if he only had »wa-intent at na%n it would be a

27. dispute only if npPnw came first; but if 5138 was done on 1¢ half-vnn and 2" was np'nwa all agree to s
i Reason: nwiy RIN MWK NYT HY NWIYN 92
Snpw. dispute maintained in both cases
i Challenge (to 37): Xn»12 where o'nan hold their position regardless of the order

1 Proposed defense: reversal means “he had already done Y 91192 and then was silent for X”

2 Block: then the two cases are alike, and the wording “afterwards” (X then Y) is meaningless

(a) Answer: could be 2 separate nn3 (- silence of 2" doesn’t follow 9 of 15t ninn)

it~ Challenge (to 37): in re: mann of nron, where (n"23) only one is 203y = "»a nawnn at 1stis Yian

1 Qualification: only applies to yina mann, but n»91 — e.g. 43 (or 47/48) of 3”7y, 11 of D97WIN DMAa:

(a) »77:if he is Y391 any of them — Y19 (even though the subsequent mxth are meaningless, could be a case of

4 09 and 4 oYY, where none has a 9 va-history; or it is meaningful as accepted for 5ma
(b) 2w must be %an all (and even if his 5w is followed by npnw — no Nwa)
2 Cannot argue: 2 @103, per 7'n if 3N becomes 5109 in mid-nTay, new 3"n> must start over with new 18
3 Defense (837): 1t was 99, 2" silent, 3" 9100 — his “re-5w9” in 3" indicates that np'nw was not Y109
(a) Challenge (»wx 27): doesn’t state “pnw” in the description
4 Rather (»wx 77): 1-2-3 were all 99, but no need to repeat if N RIN NVRY TP VI D3
(a) Challenge: the description reads 1...a (whether the 15 or 2" etc.) — not multiple occurrences — RWp

full vnn) or is it like n1vpn (applies to N1 — this is then a 7'nn *xn and subject to dispute DnIN/N")

a

b

pny it is like nynp (= all would agree that it is 53an alone)
5. it is like n9vpn (= would be considered vnn »xna Yran)
i Explanation (of »"7's reasoning): ®11 — "1 holds that any nm2p which isn’t a 'nn is significant enough to be %an
1 Challenge (»a5): nonw of 1 of the n7xy »w1d, which isn’t 1nn — yet nnan/n™ still dispute its a-ability
(a) Defense (x37): loaf is wyTp at nvNw > itis a 1nn
2 Challenge (»wn 72 707w *9): dispute about counting 0’57y before n’5 1 for noa NV NY is about 1NN *x¥n
(a) Answer: the nonw is the 1nn
ii ~ Challenge (to »77): nywn lists 4 flashpoints of %9, including n2%1n, we assume meaning nVPNT NN
1 Defense: it refers to 119’0 of 93 inn
2 Challenge: if so, the order should be mvpn ;931 1NN 09N ,n¥ P (a: we have such a version of the mwn)
(@) Challenge: if n391 is 53 100, it should have stated n2911% 15 K1, instead of MvYPnY W R
(i) Answer: since the na%n is for purposes of N7vVpN, the Rin refers to it as nvVPN
(b) Challenge: the phrase np'nwa vpn should be npnwa PHn — VP

www.dafyomivicc.org 13 © Yitzchak Etshalom 2011




WD TIVRIDT VYR YR nnan noon MY AT TINHH My B

IV Question posed re: gradual 1a — dispute among x1nn "1 ,870N "1 and nYW "

a

If: he was 9390 one grain at a time, intending to eat one grain at a time ynty yin —is it S wa?
i Range: w3 %08 5109
1 Proposal: 919 holds like n” (n”n2 o'%3an); 5109 holds like 1127 (n"n2 D>%39n PR) and w1 holds like 727 (re: DYw1))
2 Break: the positions do not necessarily align:
(a) »77: only disagrees when he thought about eating 11»*w> when he was %3an
(b) 227 only disagree when he never completed the vnn with 9a-intent
(c) 227 only disagrees when he never added to that nmay with %1ws nawnn
3 Rather: each position will hold that it represents a consensus:
(a) %wo: this is a normal way of eating and of burning
(b) 5102 this is a usual way of eating, but an abnormal way of burning >like nvpn oW NN
(c) 7w this is an unusal way of eating, but a normal method of nvpn

V  Discussion re: 170pn nvian n1vpn (e.g. if he burned one n”y to burn the other annY)

a

N112730097 290111 (refers to 202aNy ¥92¥): NYVPN is 93an another NVPN
i Even: 13127 will assent that 9nn 93an nn; in this case, the entire nn is affected (as flash-point or focal-point)
it Support (8¥27): mwn equates all 4 mmay for 5wa
1 Implication: just as other mmay are Yan whether intending to eat or burn after time
(a) Similarly: nvopn is 990 even if intending to burn (other 10 n) after time
2 Rejection: perhaps n1vpn is only Ya9n eating, unlike first three mmay
(a8 2295) 171 R57 NI0PN is not VPN HIan
i Even: n" will agree — a %39n must be the ’nn of the focal point
ii ~ Note: »ar confirmed that this was a report of XTon "1 going back to 11
iii ~ Support: our mwn —vnw 1 lamb intending to eat other 1nty yin — fully 1wa
1  Reason: since one lamb is not 92nn the other, no effect
2 Rejection: in that case, they were never joined in one »53 (unlike a5 ymip)

VI “Precious” report from &mnn 3 which he learned at x¥an 772

a

If: he burnt ymp intending to burn n111% to eat 01w after time —Y19

i Assumption: these are two independent statements

ii ~ Therefore: unclear — if he wants to support position that n”na o'9an, let him state 0»1w 51985 n”y ymp PoVPN
1 And: if he wants to support n7opn nban nopn, let him state N12% PopnY " ymp Popn after time
2 And: if he wants to support both, let him make it one compound statement

iii Answer: the case is where he burned ymp, intending to burn n11% and that when he burns nna9, that will be with
intent to eat 0»W after time

iv  Teaching: that the thought “stretches” from one nmay to the next

VII Final report: Rin taught before Xar 92 pny> "3: if he burnt ymp intending to eat 01w after time, all agree it is Y18

a

b

Challenge (8”277): can’t be 931 127 — 1121 disagree re: nn »¥N1 D2oian

Correction: read Y109 930 M1a71

i Question: why didn’t he correct him to read 519 and that it was only n"¥’s opinion
ii  Answer: Ran had memorized Yan m17, but wasn’t sure about Y109/%m9
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